Absolute Value Worksheet Answer Key

Half-Full, Half-Empty, or Both?

Evaluate.
1. 0] 6. [3+(=7)|
0 3—=T7=|—-4]=4
22
2. | —2.34] 7. ‘m
41 _ 1 _ 1=
2.34 | =1-1=1
3. V4 8. |a+ 0
2 _fa+b ita+0>0
’a+b‘{—a—b ifa+b<0
4 ‘—f% 9. | — 2% —
t [~ @) = a4y
5. |22 10. |4z — 3]
_ i > 3
2 g — 3 = 4r — 3 ﬁx_é
—a—b if v <3

(©2011 Shmoop University, Inc. All rights reserved. For classroom use only. Want to print this out for your
classroom? Go for it. All other reproduction and distribution is prohibited.

http://www.shmoop.com/algebra/
Shmoop will make you a better lover (of literature, math, life...)

1



